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Quantitative Aptitude Sunday Mega Quiz for SSC CGL - (Solutions)

S1. Ans.(d)
Sol.
Given,
ab +bc +ac = abc (1)
Now,

ath b+e cta
abic—1) T bela—1) + cal(b—-1)
__ athb + b+c cta
" betac ab+ac ab+be

a+hb b+e eta 1,1, 1

- ciath) + alb+cy  blatc) T a + b + c
_sbe _
- ab{'____
S2. Ans.(b)
Sol.
Given,
Xx+y+z=14

Squaring both sides, we get

__ betab+ace
abe

x> +yvi+zt+2(xy+yz+zx) =196

=284 2(xy + vz + zx) = 196
= 2(r+r®+1?) =168
=r+r*+r’ =84
=r+ri+r’=4+16+64
=r=4

~xy=4andxz=16

= ; =3 2 4
S3. Ans.(a)
Sol.

VI0+1 _ Y10+1

J«;Eﬂ J\.-"E+1
K= |—m = |— % —— =
V10-1 V10—1 7 +10+1 3
=3x=4/10+1=3x—1 =410
Squaring both sides, we get

9%% +1-6x=10

9%%-6x=9

9%’ -6x-6=3
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S4. Ans.(b)

Sol.

ATQ

x+y)?*-z2=8
(x+y+z)(x+y-z)=8 ()

=>(y+z2)*-x*=16
x+y+z)(y+z-x)=16 ..(ii)

(z -x)%-y* =42

(x+y+z) (z+x-y)=42 .(iii)

adding all three equations, we get

x+y+z) x+y-z+y+z-x+z+x-y) =64
> x+y+z)*=(8)’=>x+y+z=48

S5. Ans.(b)
Sol.

\-X]'G'

x+‘jx2+\jx“+\-x3+ + -

=x+‘]x2+\]x"‘+\-x3+x3»’1+'"

=x+ x2+\jx“+ [x8(1 +F—

=x+\jx2+Jx4+x"\.1+\:’T

=x+‘jx2 + Jx"‘(l +V1+-)

=x+Jx2 +x3 1+ I+ -

|I ——————
=x+x\]|l+*-.."l—|-~.|’1-|----

N
=x(1+ J1+V1+V1+ )

Now

Let1+\J1+J1+\-’1+\-’1+“'=}"UEtJ

1+\,'If§:y::’\.'lll_y=y_1
Squaring both sides
y=y> +1-2y
=y -3y+1=0
3+/9-2 3445

2 2

Then,y =

- i _.'— . aps VE
s 1441414+ - will be positive and equal to Al

2

ax(14VI+VTH ) = x(“;?)
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S6. Ans.(b)
Sol.

i ¥ —xz z” —xy _
x3+ﬁ+ 1+5.'3+:=cz+1+33+x_v+1 =4

2 1 =
X ¥ A
2 ( +—+ ) =4
xZ4yr  yvidwz  z2liuy

x? v == 2
xB4yzr  vidzx  zlixy

S7. Ans.(b)
Sol.

(x+y+z)i=x*+y?+z22+20xy +yz+ 2% e (1)
¥4y 42 —3xyz=(x+y+z)(x*+y +z° —xy—yz— )
13—6=1(x*+y* +z* —xy —yz — zx)
x*+y*+zF=7+xy+yz+zx....(2)

Now, from eq?(1) and (2)

1 =7+ 3(xy +yz+zx)

= xyt+yzt+zx=—2

S8. Ans.(d)

Sol.

Putx = -1 then,

(-1)* +a(-1)*-b(-1)—-6=0
a+bh-7=0 -..[1)

put x = 2 then,
(2 +a(2)* =b(2)-6=0

4a-2b+2=0 (i)
By solving equation (i) and (ii)
a=2,b=5
59. Ans.(a) Live Class
Sol.
¥4yt = (2% + p?)* — 2x7y0 SSC CGL 2019
(432 — (Vry) MOST EXPECTED QUESTION
-
= (x% + y* —V2xy)(x* + ¥* +2xy) REVISION BATCH ?f%' - =
x4y _ |:.1'3+_]:""—*-.-'E.r_}rjl{.rz+}'3+ﬁ.-'?xj-':l
T xZ—ayp Iyt - x2—xy Iyl
=x*+y + w"'ixy
—p+tq
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$10. Ans.(c)
Sol.

(x+y)®-zF=23

2 (x+y+z)(x+yv-z)=23
(v+z)2-x*=14

> (v+z+x)(v+z-x)=14
(z+x)*-y* =12
(v+x+z)(z+x-y)=12
Add all three equation

(i)
..(ii)
. (iii)

x+v+z)[(x+y-z+y+z-x+z+x-y)] =49

(x+v+z)(x+y+2z)=49
X+y+z =17

S11. Ans.(c)
Sol.

 BP =BR

= £BPR = 2BRP =6

+ CN=CR

= £CRN =42CNR =«

~ «PBR =180 - 26

& £NCR =180 - 2«

Now, in AABC

2BAC + 2£ABC + £ACB =180°
= 44° + (180 - 20) + (180 -2a) = 180°
= 2(0 + a) = 44° + 180°
=>0+a=112°

=~ 2PRN=180°- (6 + a)
=180-112

2£PRN = 68°

4 | www.bankersadda.com

www.sscadda.com

www.careerpower.in

www.adda247.com



S12. Ans.(d)

Sol. ATQ

LA £B:2C=3:2:1
~tLA=3x4B=2x+4C=x
In AABC

= s1A+ 2B+ £C=180°
= 3x + 2x + x=180°
=x=30°

~2£C=30°

2ECD =180 - 2C - £ACE
= 180°-30°-90°

=60°

S$13. Ans.(b)
Sol.

£PTB = £TUV = 55° (Corresponding angles)
£PTB = £UTA = 55° (Vertically opposite angle)
£CUQ = 2UTA = 55° (corresponding angles)
£DVS = 2UVT = 45° (Vertically opposite angles)
= In AUTYV,

2T =180° - (55° + 45°)

2T =80°=2PTR  (vertically opposite angles)
~ 2CUQ + £RTP = 55° + 80°

= 135°
12 Months Subscription
S14. Ans.(d)

Sol.
B
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~BC=AC

2CBA = £CAB = 65°

And, ATQ,

BC || AE

2CBA + £EAB = 180°

= 2EAB = 180°- 65° = 115°
Now,

<EAB = £EAC + «CAB

= 115°=x+65°

x = 50°
S15. Ans.(a)
Sol.
< 6bcm >
, A X M_ 6-x B
X / \6—){
7cmQ N
7-}(\ / z
W
D 7-x P c
< 5cem >

Tangents drawn to circle from same external point are equal

=>AM =AQ=x
~MB=BN=6-x
And,

QD =DP=7 —x

= Let NC=PC =Z
= consider side DC
7-x+z=5
>-Xx+z=-2

And,

BC=6-x+12
=6-2

BC=4cm

= Alternate

AB+ CD=BC+ AD
=6+5=BC+7

=>BC=4cm

(D)

[from eq” (i)]
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$16. Ans.(b)
Sol.
A B

— Let AB is the chord and ‘0’ is the centre of a circle
- ATQ,

OA=0B=AB

=~ All sides are equal then A is equilateral A

=~ Angle subtended by the chord is 60°

S$17.Ans.(c)

Sol.
D C

A B
Let,

BD=6mand AC=8m
~BO0=3mand AD=4m

Let AB =5 m (given)

=~ £AOQ0B =90°

= +BOC = +C0D=+D0OA =907
~ ABCD is a rhombus

And,
ACKED 8 [

Area of rhombus ABCD = —— = —

=24 m*"

$18. Ans.(b)

Sol.

£PEF = 2PGH = 80°
(Corresponding angles)

~ £QGH = 180° - £PGH = 100°
Now, 2QHD = 120°

SUPREME

£QGH + £GHQ + 2GQH = 180°
= 100° + 60° + x = 180°
= x=20°

All SSC Video Courses

7 www.bankersadda.com www.sscadda.com | www.careerpower.in | www.adda247.com


https://store.adda247.com/comprehensive-video/2763/SSC-Supreme-Video-Subscription-Validity:-12-Month

$19. Ans.(c)

Sol.
ATQ
P
(2,3)
Q M R
(-3.7) (-1,-3)
PM — median (given)

Clearly M is midpoint of QR we know
~ coordinates of M are

-3-17-3
=(TT)

ie, M (-2 2)

~ Required equation of line joining
P(2. 3) and M(-2, 2)
=y-3)=25 (-2
> (y-3)=:(x-2)
=(4y—-12)=x-2
=x-4y+10=0

S20. Ans.(a)
Sol.

Point D = intersection ofx =1
And,

X ¥
3T
~ Point D will be (1, -2]

= ABCD is a trapezium
AB=2
CD=CE+ED=2+2=4
BC=2

= Area of trapezium ABCD

1

1
=X BC X (AB +(D)

=-X2%(2+4) = 6 5q. units
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S21. Ans.(d)
Sol.

l LT N
A LY ‘N
."R \ :: :45/}; /
——
= Diagonal of innermost square
=~»,"'E><\.’E= 10 cm
= Diagonal of outermost square
=10+ 2.75%x 8=32cm
. Side of outermost square

=2 = 15\.’Ecm

W

S22. Ans.(c)
Sol.

A

/

III—

i

f 3
:rr"'lk":-- \ I

_-.._'_,-I' s A
i | %

. - A

ABC is an equilateral triangle

AF=%=%><54= 273
In radius (R1) = z:E = "E:E =943
~ AP =AF - 2R,

=273 -93x2=93
Now, AADE is also an equilateral triangle

AP =2DE =93

= DE = 18 cm

~ In radius of AADE

= D—"i = 18_ = 3\."5 cIm
243 243
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S23. Ans.(c);

Sol.

B TE c

Draw AD 1 BC.
g = 13+1:+15 — 31

Area AABC = +/S(S-a)(S-b)(S-¢c)

= le % (21-13) x (21-14) x (21-15)
= B4 =q. units
Also,

Ar AABC =§ % AD X BC

:>§>< 14 X AD = 84

= AD= 12 units
~AD=12, BD=5, DC=9
& clearly AFEC ~ AADC
— FE _AD _ 4

EC DC 3

= EC=""
4

Now, Area of AABC =§ % 14 X 12 = 84

= Ar AFEC = —= 42 == X FE X EC

:btl-ExE:FE}r{%:-CFE
= FE =47

S24. Ans.(b);

Sol. If the length of medians form triplets then we can directly use the formula below to find out the area

Area= m1mg=§}{9K12=?2 cm®

0l | a3
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$25. Ans.(a)
Sol. Live Class

SSC CGL 2019
MOST EXPECTED QUESTION _

-
REVISION BATCH & "3“

9:30 AMto 2 PM | Bilingual

Join R to PQ at S, S being midpoint of PQ & intersecting line ‘¢ "at G (being centroid)
Construct SE 1L to £ . Also construct PF || £ intersecting SE at O.
Clearly, SE=50+2 & QM=QF+2= QF=4
Now, APOS ~APFQ =22 =2 550=2= SE= 4
QF PQ
* G is centroid of APQR & £SEN = £RNE = 90°
SEG ~ RNG
5C _ SE

=2 =2 _2(- Giscentroid) > RN =2 x4 =8
GR NR 2
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